Torts Outline 
1. What is a tort and why do we have tort law? 
a. 3 main categories of torts: intentional, negligence based, and strict liability 
i. The first two are fault based where the defendant did something 
1. Other fault based standards 
a. Breach of special duty- did not live up to standard of care
b. Gross negligence 
c. Recklessness 
i. Knew or aware of risk but acted anyway, with indifference to risk and magnitude of risk outweighs the cost of not acting or taking precautions 
d. Willful and wanton- Almost intentional 
i. you are held accountable for acting volitionally even if not responsible 

ii. Burden of proof is by a per ponderous of the evidence (more than 50%)  

b. Justifications for tort law 

i. Corrective justice (trying to correct a wrong) 

1. Rights based, individual focused, fairness (ethics/morality?), compensation, communicative, punishment, who is more morally culpable, relationship between these 2 people who do we want to hold responsible 
2. Majority look to corrective justice 

ii. Utilitarianism (an efficiency approach to torts) 

1. Society focused, public policy concerns, deterrence, incentives, law and economic analysis (cost benefit analysis, cheapest cost avoider, efficiency, maximizing wealth, loss spreading), peace, keeping order
2. Sometimes don’t want to incentive over analytical behavior in crisis, okay to make a mistake 

3. Law and Economics analysis terms 

a. Kaldor-Hicks Efficiency 

i. Come up with rule or plan that makes society better off overall if not all but a majority 

b. Pareto Efficiency

i. Society is better off and no one is worse off with rule 

iii. Other Rubrics to look to 

1. Relational 

a. Encourages good Samaritan behavior, the duty owed to each other because of community ethics 
2. Administerability (Important in tort law) 

a. Consideration of who is best situated to evaluate (develop) a particular issue (can you pre-negotiate rules) 

b. Who has the expertise? Are courts better to decide what’s the safest practice or the industry itself? 

i. Who has the information. If you can’t calculate likely harm then not workable on balance. In the moment does it give enough guidance, don’t want people to do CBA during crisis 

c. Is the rule workable and does it give enough guidance? 

i. Problem of setting different standards of conduct for different people, not workable 

3. Distributive Justice 

a. We want to evenly distribute justice within society 
2. Tort Remedies 
a. Compensatory Damages 

i. Rule: Wining plaintiff entitled to recover damages to compensate for losses caused by defendant’s tortious conduct. 
1. Attempting to make the plaintiff whole again.
2. Usually have to be able to recover economic damages to then be able to get non-economic  
ii. Two categories of compensatory damages 
1. Economic (special or specific) 
a. This is for physical injuries, includes past and future losses, damages to property, and loss of profits
2. Non-economic damages (general) 
a. Pain & suffering, loss of consortium, emotional distress, hedonic damages (loss of enjoyment of life like a violin player losing their arm), more difficult to quantify, how much is a life worth? 
b. Punitive Damages
i. To punish the wrongdoer, greater deterrent effect, public shaming, constitutional limits. 
c. Injunctive Relief 

i. Order from the court telling defendant to stop doing what they’re doing. 
ii. Less common, usually in property law. 
3. Intentional Torts 

a. Basic Elements (all intentional torts must have) 

i. Act 
ii. Intent 
iii. Causation 
iv. Harm 
b. Intentional Harm to a person 
i. Physical Harm 

1. Battery or trespass to a person 

a. An intentional non-consensual physical contact with another person that causes harm. 
b. Elements (prima facie case)- The defendant: 

i. Acts 
ii. With intent to (depending on jurisdiction) 
1. Cause a harmful or offensive contact or imminent apprehension of such a contact or
a. Can’t be offended if consented 
2. Cause a (unwanted) contact or imminent apprehension of such a contact 
a. To see if unwanted look to consent  
iii. Causing 
iv. A harmful (or offensive) contact 
c. Vosburg v. Putney: boy kicked classmate and he could not use his limb anymore. Court said he did not intend to cause harm but he intended to act and that was enough. Vosburg used #2. In classroom so no consent given 
i. Question of consent, if on playground could say gave consent if not then no consent given 
ii. On a subway can’t say you didn’t consent. Plaintiff has to prove it was unwanted or non-consensual 
d. Garret v. Dailey: 5 year old boy moved chair from out under his aunt. Follows Vosburg standard intent to cause contact, he did considered an indirect contact since he caused contact with the ground. 
i. he should have known she would fall so it shows his intent because he knew with substantial certainty, do not have to show purpose or desire 
ii. a complication is indirect contact but was close enough here. 5 year olds can form intent to battery over 3 yrs old can form intent. 
iii. Look at knowledge to see if he had intent to cause an unwanted contact. 
e. Possible standards for intent 
i. Intent to cause general harm (intent to cause unlawful or unwanted contact or apprehension of the same) 
1. Have to look at consent to see if it was unlawful or unwanted.
ii. Intent to cause harmful or offensive contact 
1.  higher threshold for liability 
2. Restatement standard 
a. Jurisdictional split between this and #2. Knowledge that unpermitted conduct has taken place is not necessary (being kissed while asleep and didn’t want to be still liable) 
iii. Intent (restatement 3rd 8A) 
1. A person acts with the intent to produce a consequence if the person acts: 
a. With the purpose of producing that consequence or 
b. Knowing that the consequence is substantially certain to result 
ii. Emotional Harms

1. Offensive Battery 

a. Elements (prima facie case)- An actor is subject to liability for offensive battery if she/he: 

i. Acts 
ii. With the intent to cause a harmful or offensive contact or the imminent apprehension of such a contact (or unlawful/unwanted contact or imminent apprehension of same in some jurisdictions) 
iii. Causing 
iv. An offensive contact 
b. Alcorn v. Mitchell: 2 people were in court and one spit in the other’s face after losing a case. No physical damage just indignity. Want to deter, gave damages for humiliation. 
i. Individual autonomy of a person should be protected even if it doesn’t cause personal harm.
c. To be offensive it comes from an objective standard. 
i. Does it offend the reasonable person?  
2. Assault 

a. Elements (prima facie case)- An actor is subject to liability for assault if he/she: 

i. Acts
ii. With the intent to cause an offensive or harmful contact (or in some jurisdictions unwanted contact) or imminent apprehension of such a contact) and
iii. The other is thereby put in such imminent apprehension (of causation & harm) 
iv. *Note*- no requirement for damages for offensive battery or assault but we assume harm itself is an imminent apprehension of a contact. 
v. Apprehension- not necessary that the other believe that the act done by the actor will be effective in inflicting the intending contact upon him, enough that he believes the act is capable of immediately inflicting the contact upon him. 
vi. Awareness that a contact will occur, subjective to the plaintiff and objective has to be reasonable apprehension 
b. I.de S. and Wife- Defendant came to plaintiff’s house to buy wine but tavern was closed, hit door with hatchet and he stuck at her but missed. Held liable because want to deter people from running around at night with a hatchet because people have a right to feel safe in their home. 
c. Tuberville v. Savage: defendant put hand on sword and said defendant did assault. Defendant claims he was defending himself but not true because no imminent apprehension because plaintiff said he NOT intending to hit him. 
i. mere words will usually not rise to the level of assault. 
d. No contact required for assault, but yes for battery. Usually before contact you have imminent apprehension so that’s why you usually have assault & battery together 
e. Assault is subjective because the person has to actually have a reasonable imminent apprehension of contact. 
3. False Imprisonment 

a. An unjustified confinement 
b. Elements

i. Words or acts (or omission) by defendant
1. Words on their own are not enough  
ii. Intended to confine plaintiff (lower standard in some jurisdictions if actual harm i.e. recklessness or negligence standard if physical harm occurs, restatement approach) 
iii. That causes actual confinement or restraint and 
iv. Awareness by plaintiff that he/she is being confined (some jurisdictions & restatement permit liability w/o knowledge if plaintiff is being physically harmed) {harm}
1. Baby in a freezer 
c. Bird v. Jones: tried to go through barriers to get to a public highway. He stayed there and said he falsely imprisoned because couldn’t go where he wanted to go. There was not false imprisonment 
i. Must have a boundary not confinement. Restriction of freedom is different from imprisonment. He was still allowed to go in another direction. 
ii. Imprisonment is more than the mere loss of freedom you need a boundary but it can be large and moving 
d. Coblyn v. Kennedy: an elderly man went to a store they thought he stole so didn’t let him leave. He didn’t identify himself or say for what but he ushered him somewhere else until another He felt sick and had to be helped by the nurse. 
i. Court said any demonstration of physical power which can only be avoided by submission is imprisonment. 
ii. Merchant can detain someone if in a reasonable manner and for a reasonable amount of time. Since he was small and frail, words more likely to be intimidating and compelled to move rising to the level of threat of force. Have to have implied threat or social pressure to make him feel like he couldn’t leave. 
4. Intentional Infliction of Emotional Distress 

a. Elements- Defendant

i. Acts in an extreme & outrageous way 
ii. Intentionally (purpose or knowledge that they were going to cause IIED) or recklessly 
1. Recklessness is if a person knows of the risk of harm created by his or her actions or knows facts that make risk obvious and proceeds anyway or 
2. He/she deliberately disregards a substantial risk of harm
iii. Causing 
iv. Severe emotional distress to plaintiff (harm). (Note: Severe reaction must be reasonable unless unreasonable pre-disposition known) 
v. Additional elements if directed at a 3rd party add
1. By conduct directed to a member of plaintiff’s immediate family who is present at the time or 
2. To anyone else present, if they suffer bodily harm (some physical injury) 
b. Wilkinson v. Downton: plays practical joke on plaintiff that her husband has been in a terrible accident. In so much shock she vomited and had medical bills. 
i. No physical harm but she got for emotional distress shows corrective justice in action. It was an intentional act that reasonably led to harm. Even if no intent knew with substantial certainty it would cause it. Disregarded the risk (recklessness). 
c. IIED sometimes limited by 1st Amendment b/c of free speech (Falwell) talked about sex with his mother. 
c. Intentional Harm to Property 
i. Trespass to Land 

1. Elements

a. Physical invasion of plaintiff’s real property (the act) 
b. With intent to physically invade property 
c. Causation (i.e. act causes invasion) 
d. Harm (presumed) (unless intangible trespass) 
i. Intangible would be like radiation noise then need to prove actual harm to property or person 
2. Dougherty v. Stepp: defendant went on plaintiff’s property with a surveryor, made no damages, tried to figure out whose land it was. 
a. court said it was trespass and the harm was the unauthorized entry and the trespass. 
b. Property is man’s castle so want to protect land. Doesn’t matter what he thought about whose land it was, do not need intent to trespass need intent to go onto property. 
i. Property reasons 
c. Closer to strict liability b/c weaker standard for intent 
ii. Trespass to Chattels 

1. Basic Rule: 

a. Defendant intentionally interferes with the possession of personal property thereby causing injury 
b. Need to show that the defendant carried off goods that were in the plaintiff’s possession. Can get damages for this. 
c. Majority cannot be too minor of a harm-Blondell any intentional interference with chattel shows harm automatically 
2. Elements
a. Act (of interference with chattel) 
b. With intent to bring about interfering act
c. That causes
d.  harm 
i. To the chattel or dispossession to chattel 
3. Intel Corp. v Hamidi: Defendant used work email internal server to send employees messages about how bad the company was. 
a. court holds no harm done to chattel. Did not reduce functionality of server or the time of the workers 
b. spiders are trespass to chattels because diverting business so they are causing harm.  
iii. Conversion 

1. More serious than trespass to chattel, this requires as a remedy either full payment of chattel or force it to be returned 
a. Has to have maintained an ownership interest in them to sue for conversion. It’s a strict liability tort and could be for intangible property. 
2. Elements

a. Acts of serious interference with chattel 
b. Intent to perform that act 
c. Caused 
d. Harm 
i. Dispossession or damage to chattel 
3. Poggi v. Scott: defendant sold wine barrels that belonged to the plaintiff. No defense it was conversion 
a.  It does not rest on knowledge or intent but with the unwarranted interference by the defendant with the domino over the property which injury results 
4. Moore v. UCLA: man went for treatment and without his permission used his cells and made a profit. He did not have a claim to own or possess property. 
4. Defenses to Intentional Torts 
a. Attack the prima facie case (i.e. no intent, no contact, there is consent so therefore not offensive) 
b. Consent 
i. In battery, consent is part of the prima facie case to prove. Defense that if consented to the defendant’s acts there is no action. Consent can be revoked. 
ii. Explicit 
1. You say hit me. Then can’t sue for battery 
iii. Implied 
1. Not sure. The law decides to act as if they did so, so if they would have been asked they would have said yes. Like Vosburg, implied consent on playground. 
2. As a policy reason, during emergency there’s implied consent, could ask for general consent or designate an agent 
3. Some factors in considering implied consent
a. Expectations: based on conduct and words 
i. O’Brien gave implied consent because held out arm to get smallpox vaccine 
b. Relevant laws and statutes
i. Statutory rape- can’t consent to this 
c. Custom 
i. What’s the norm, what’s appropriate behavior or not, and how they give consent 
d. Public policy 
i. Will read in consent even if person may not have consented like in an emergency room. In subway we read you implicit consent even if individual may say not because that’s what society has agreed on. 
4. Mohr v. Williams: went to get ear checked and was going to operate on the right war but then when was already under doctor saw problem was really with the left and operated. Family doctor agreed. Defense to battery claim, no negligence or wrongful intent for a harmful contact. This was not an emergency either, they’re in a Vosburg jurisdiction. 
a. Says that the only way to have implied consent is if there is no absolutely no other feasible way to get consent. 
i. But here the court said there was an injury to her autonomy because she was unable to make the choice for herself. 
b. Question of how surgical consent should be handled when the patient is unconscious. Either through boilerplate terms, talk about all scenarios to patient before, or designate an agent. 
iv. Some limits on consent 
1. Capacity to consent 
a. Need to be conscious and capable to consent. Young children cannot consent. Cognitive ability (mentally ill, drugs, alcohol) 
2. Crimes (jurisdictional split, and division of category of crimes) 
a. some say you can consent so then you cannot sue. Others say you can’t consent to a crime so the fact that you did is irrelevant because you can’t consent so you can sue because no defense.  
b. Zysk v. Zysk: Husband gave wife Herpes before they got married because they fornicated. She was not able to bring a claim because she participated in a crime. Can’t sure if harm arose out of a crime 
3. Fraud 
a. Explicit statement of saying one thing when it’s not true. 
4. Mistake? 
a. Implicit fraud, failure to correct a mistake. Some say if your partner mistakenly believes your clean then it defeats consent to sex. 
5. Duress 
a. Ex- holding a gun to someone’s head, it will defeat consent. 
6. Scope 
a. Mohr- Consent to right ear, not left. Some consent not all. They might agree to some limited activity but not more. 
v. Sports 
1. Usually in sports like football there is implied consent because of the nature of the game but if the penalty is about safety could make the argument they did not consent to that. 
2. Look to see if it was a safety oriented rule, then how flagrant was it, and what is the custom of the game. 
c. Insanity (?) 
i. Not a defense 
ii. The mentally ill are liable for intentional torts if they are capable of forming the requite level of intent and do so. 
iii. Policy arguments for the rule 
1. Corrective justice/fairness
a. Assuming they have control, it’s fair to hold them liable. It’s between 2 parties and someone was hurt so want to hurt that person responsible 
2. Utilitarianism (include deterrence, efficiency)
a. There is an incentive to control, caretaker to take more precaution with the mentally ill. Encouraging more nurses to take of them by punishing insane people when they misbehave is better for people overall. 
3. Administerability 
a. Fraud concerns that people will pretend to be ill. Question on how to evaluate if someone is insane 
4. Distributive justice?
a. Resources that if insane person can pay for private care they should have to pay for injuries even if not morally culpable. 
iv. McGuire v. Almy: Nurse hired to take care of mentally ill patient. He hits her and she sues for battery. Did she consent to being hit when she went into the room because she was warned ahead of time? No she did not consent. He tried to use insanity defense but it didn’t work.  
d. Self-defense/Defense of Others
i. It’s a justification defense so prima facie case made but I had a good reason 
ii. Can plead self-defense even if you made a mistake about the threat 
iii. Summary of self-defense and defense of others rules
1. Must be reasonable belief that must defend self or others 
a. Reasonable mistake okay 
b. Reasonable force to prevent harmful or offensive bodily contact 
2. No retaliation 
3. No provocation (someone saying something mean) 
4. No excessive force- can only use force reasonable under the circumstances 
5. Retreat not required- though some jurisdictions require before use of deadly force 
iv. Possible standards for self-defense 
1. What matter is actual state of affairs 
a. Trial court used this 
2. What matters is subjective belief of defendant 
a. Plaintiff would like this standard
3. What matter is what defendant reasonably should have thought 
a. Court of appeals adopts this 
b. Because in fairness if someone think they’re being attacked should be able to defend themselves (corrective justice). #1 might over deter
c. Utilitarianism It might deter from people shooting all the time and claiming the defense of others. #1 we want people to defend themselves 
d. The danger is that what is reasonable is based on a pre-conceived judgment or possibly over defending 
v. Courvoisier v. Raymond 
1. People are trying to break into his jewelry store and he scares them away but then takes a gun outside and the cop comes to try and calm him down but it’s night time so the plaintiff shoots him. Says he could be held to have been justified in what he did. 
e. Defense of Property 
i. Law usually values life over property, so can’t kill someone to protect property 
ii. Permits use of reasonable force to protect property (real or personal)- permissible force much more limited. Cannot be wounding force to repel them and if feasible you need to ask them to leave first 
iii. Summary of defense of property rules 
1. Can use force to repel but not to harm 
2. Can’t use deadly force or even wounding force to protect property 
3. Must ask to leave property before using force if feasible to do so 
4. Usually must give notice 
iv. Bird v. Holbrook 
1. Had a garden but didn’t live there, people had broken in before so put in a spring gun. Man went when it was still light outside and the servant called out but no one answered and go shot. Could have a battery claim because had a clear purpose to cause a harmful contact. Says should have given notice, had intent and purpose 
f. Necessity 
i. Justification defense. Need not have a relationship with the person or the property being saved. It encourages good Samaritan behaviors 
ii. Usually necessity comes from a force of nature or outside force so generally 2 innocent parties. Can use defense even if you unreasonably place yourself in the situation. Necessity is an incomplete defense so usually you still have to pay something 
1. Public necessity 
a. Someone maybe the government interferes to protect the community 
iii. Summary of Necessity Defense 
1. Mistake as to necessity of action is okay 
2. Reasonableness of actions leading up to necessity irrelevant 
3. Do not need to make best plan under circumstances, only a reasonable one 
4. Private necessity is an incomplete defense- must pay for damages to property, etc.
5. Can NOT cause substantial bodily harm to another- open question of whether can intentionally cause even slight physical harm to another 
6. Public necessity v. private necessity 
iv. Ploof v. Putnam 
1. Plaintiff sailing and storm hit, tried to moor at the defendant’s dock but then his servant untied it and they were severely hurt. Plaintiff said it was trespass and they said they had no permission and plaintiff says it was a necessity. 
2. Could’ve had a defense of property if no storm because it was reasonable force, but since storm it changes everything.
3. Think of policy of when boats should be able to dock. 
v. Vincent v. Lake Erie 
1. Defendant had a contract with plaintiff to go to her dock to unload cargo. They were finished and storm came and they kept retying so it caused damage to her dock. She says they should have left. They claim necessity. Court said it was necessary to stay docked during the storm but that defendant has to pay some compensation. 
g. For #2-6 they are affirmative defenses and the defendant has the burden of proof 
Negligence-Based Torts 
1. Behavior that unreasonably risks personal/property injury to another and causes injury (limits: fault & causation) 
2. Always need to first identify the negligent acts before you go into the analysis!!!! 
3. Elements of Negligence 
a. Duty- Basic Duty- the reasonable standard of care 
i. When a person acts, he or she must use reasonable care to avoid reasonably foreseeable harms 
ii. Did the defendant owe the plaintiff a duty to conform his conduct to a standard necessary to avoid an unreasonable risk of harm? 
iii. Duty II- Affirmative Duties- generally no duty to act- Nonfeasance (you did nothing)- most of these have a reasonable component so if they had an affirmative duty and did not reasonably do anything then they breached. 
1. Common law- no duty to act but once you undertook have to do so reasonably  
2. Duty to help others during a rescue- cannot interfere 
3. Buch v. Armory 
a. Kid’s hand was crushed when he trespassed onto property. No duty to eject or to make the premises safer for a trespasser. 
4. Kitty Genovese
a. Stabbed 3 different times and people saw but did nothing 
b. Fairness, relational duties, deterrence, public policy
c. Could argue more of a burden on people that live in bad areas if there is a duty on them. But on the other hand we want people to save others if they can do so safely. 
5. Van Horn v. Watson
a. Friend tries to pull another from a car crash and causes more injury. Not protected under statute because no medical care. 
i. CA says will not be held liable unless they were grossly negligent. 
6. Affirmative Duties  
a. Creation of risk 
i. Montgomery v. National Convoy
1.  Truck broke down at bottom of the hill & they put lights around the truck only. No warning for people coming down the hill plaintiff’s car hit the truck  
2. Had a duty to warn, RPP would have and they failed. They created the risk here.
ii. Yania v. Bigan
1. Egged into jumping into water and he did and died. No duty to rescue. Mere encouragement is not creating a risk when you have sufficient knowledge of the risk. 
iii. Can be a non-negligent or negligent act but usually say non-negligent because if it was negligent duty #1 has already been violated. Do not have to put oneself at unreasonable risk.  
b. Undertaking
i. When you take some act, undertake to do so reasonably and complete it, even if had no original duty to act. This is like doing a favor for someone 
ii. Coggs v. Bernard
1. Defendant moved castes for plaintiff and some were damaged, he say she never had a duty to do it no contract or employee 
2. Doesn’t matter he was negligent. Since he undertook (gratuitous) he had a duty to do so reasonably 
iii. Why create this duty? 
1. Because they are in a worse position then had you just not helped. They relied. want to deter carelessness 
iv. If companies voluntarily undertake things to the general public they have to keep it unless they give sufficient notice that they will not anymore. 
v. Common carrier (train, buses, ships) 
1. Relationship between these people and those they carry is a special relationship so they have a duty (Erie RR) 
vi. Restatement (2nd) of torts- Liability to 3rd persons for negligent performance of undertaking 
1. One who gratuitously or for consideration to render services to another which he should recognize as necessary for the protection of a 3rd person or his things, is subject to liability to the 3rd person for physical harm resulting from his failure to exercise reasonable care to perform his undertaking if
a. His failure to exercise reasonable care increases the risk of such harm or (increased risk) or
b. He has undertaken to perform a duty owed by the other to the 3rd person or (transferred duty) or 
c. The harm is suffered because of reliance of the other or the 3rd person upon the undertaking (reliance) 
vii. More rules: 
1. Can’t leave person in worse position 
2. Perhaps can’t incite dangerous act and then not rescue if child involved 
c. Special relationships 
i. No definite definition but can include: shop owners/ customers, 3rd party beneficiaries of contracts, landowners/guests, parent/child, spouses, schools, doctors/patients, common carrier/passengers 
ii. Can use the Rowland factors here to cerate a new duty that does not ordinarily exist. 
iii. There is no duty to control the conduct of a 3rd person as to prevent him from causing physical harm to another unless 
1. A special relation exists between the actor and the 3rd person which imposes a duty 
2. A special relation exists between the actor and the other which gives the other a right to protection 
iv. Kline v. Massachusetts 
1. Plaintiff criminally assaulted inside of apartment building. 
2. They knew about the increase in crime and had duty to protect premises in a reasonably adequate fashion. 
3. Landlord was in best position to take precaution. Not in contract so no undertaking. Did not rely because knew had been stopped.
4. Causation issue because if other tenant did it then no way for landlord to take enough precautions to stop that. 
v. Tarasoff v. UC Regents 
1. Man killed woman and he told psychologist that he was going to do it but she did not warn victim or the parents. 
2. This is indirect special relationship and they did have a duty. 
3. Nature of duty was a duty to warn, duty to control murderer. 
4. Arguments against is that it may dissuade people from getting help. Doctors may not want to know so that they don’t have the duty. 
5. CA Civ Code 
a. There is no duty unless the patient has communicated to the psychotherapist a serious threat of physical violence against a reasonably identifiable victim. 
d. Landowners & occupiers 
i. You can be negligent on your own land however there are some exceptions like clearly the driveway that is dangerous when you know the mailman comes everyday.
ii. Addie v. Sons 
1. Coal mining company near the road a child went on boards and died, there were signs and guards. 
2. If there was a duty they would be liable for negligence because the machine was unsafe however court said there was no duty because he was a trespasser and nothing willful or wanton was done 
a. Not creation of risk because not a public property it’s his own. 
iii. Traditional Landowners Liability Rule: 3 categories 
1. Invitees- normal duty rules apply (you have a duty to do something) 
a. On land for some business purpose in which he and owner both have economic interest. 
2. Licensee- duty only to ensure there is no trap or concealed danger
a. Not invited for business purpose but there with permission (includes social guests) 
3. Trespasser- duty only to avoid willful misconduct or reckless disregard of safety
a. Person there without invitation and whose presence is either unknown or objected to if known (no business purpose) 
i. If known on land but no objection then becomes licensee 
4. Restatement added public invitees 
a. You open up a shop and invited public by opening up business so anyone who comes in is a public invitee 
iv. Easing/Exceptions to Traditional Landowner Rules (common law and English rule) 
1. Willful & wanton/recklessness
2. Attractive nuisance (all need to be met) usually for trespassers it creates a duty 
a. Artificial conditions highly dangerous to trespassing children 
i. Attractive to children 
ii. Artificial condition 
iii. Possessor knows or has reason to know children will trespass 
iv. Possessor knows or should realize the condition creates an unreasonable risk of death or serious harm to children 
v. Child did not assume risk 
vi. Risk-utility calculation supporting eliminating condition 
vii. Possessor failed to exercise reasonable care 
b. Kind of like creating a risk which would give you an affirmative duty to act reasonably 
c. Can discharge your duty if you act reasonably (create fence to keep kids out) 
3. Active operations 
a. Rowland abandoned this, this involves having pools and parties and inviting people legal duty arises from licensee to invitees. It’s as if you’re running a business 
b. Now they are a licensee 
v. Rowland v. Christian 
1. Rejects traditional approach to landowners 
2. Plaintiff went to apt with permission and defendant knew of defect in sink and complained. The plaintiff’s nerves were injured. She never told him about it. 
3. He was a licensee so duty to ensure no traps or concealed danger and it was here but uses factors instead.
4. Rowland factors (policy reasons!!!) 
a. Foreseeability of harm to P 
b. Degree of certainty that P suffered injury 
c. Closeness of connection between D’s conduct and injury suffered 
d. Moral Blame 
e. Policy of preventing future harm (deterrence) 
f. Extent of burden on D
g. Consequences to community of imposing duty 
h. Insurance (availability, cost, and prevalence) (Look at both P & D) 
vi. 3 Rules in US (no majority) 
1. Common law 
2. Rowland Rule 
3. English Rule 
a. Gets rid of invitee/licensee has no duty to trespassers but same exceptions in common law. 
b. Licensees are invitees higher standard 
b. Breach- how do we determine the violation of this basic and universal duty? 
i. Did the defendant’s conduct whether by act or omission fall below the applicable standard of care? 
ii. Ways to demonstrate breach of basic duty of reasonable care 
1. Reasonable person standard 
a. A defendant breaches the duty of reasonable care when judged from the perspective of a reasonably prudent person in defendant’s position, she fails to act with reasonable care to avoid a reasonably foreseeable risk to plaintiff. 
b. Objective standard what others would think. 
c. Vaughan v. Menlove 
i. Defendant was a neighbor and put a haystack on his property near the plaintiff’s cottages. It caught fire and caused damages. Said they had to use a reasonable person standard not that the defendant acted within his best judgment. 
ii. Should enjoy your own property without injuring others so that defendant should be liable for the consequences of his own neglect which he should have known would catch fire. 
iii. Want to hold people to average standard of conduct (utilitarianism) that is better for everyone overall. 
d. Holmes- who is reasonable person? 
i. What would be blameworthy in the average man, the man of ordinary intelligence and prudence and determines liability by that. 
e. Some exceptions to the generic reasonable person standard 
i. Women- Sometimes okay but usually not. (usually in sexual harassment) 
ii. Physically disabled 
1. Usually exceptions seen here. 
2. Fletcher v. Aberdeen 
a. City removed barricades on a man hold and a blind man fell and was injured. They tried to say they met the duty by initialing putting barricade but that is not good enough. 
b. Need to maintain proper use for everyone 
c. Don’t want to hold blind people to a higher standard of sighted and for policy don’t want to hold lower standard for drunk people. 
d. Utilitarianism- want to incentivize people getting help that’s why no diff standard for drunk person. Corrective justice want to hold mentally ill responsible not physically ill. 
iii. Mentally ill or disabled
1. Holmes says for negligence may be a defense, even though usually it is not 
2. Breunig- Mental illness would be a defense if it was a sudden onset. If you had a warning then no defense because you should have done something.  
iv. Children (exception if adult activity) 
1. Usually between 3-5. Parents can be held for negligent supervision.
2. Roberts v. Ring 
a. 7 year old hit by buggy defendant says he ran out of nowhere and he was driving slow. If he was driving so slow he should have been able to stop. 
b. Standard is of ordinary person not one who is old or can’t hear. Because if he can drive then he should be held to normal standard. 
c. The child not held to adult standard that would make him contributory negligent. Not fair to do so. 
3. Daniels v. Evans
a. 19 year old boy was killed while on a motorcycle. Court held that the needed to be held to standard of adult because he was doing dangerous activity. 
b. since doing that activity, assume they are old enough to exercise that reasonable standard of care. 
c. Policy reasons- utilitarianism because if adult activity need to rise to standard of adult or don’t do it. 
v. Special expertise or knowledge 
1. Generally only applies when the expertise is known. Lawyers held to a higher standard so reasonable lawyer not reasonable person. 
2. Has to do with the circumstances if skier gets into accident probably not higher standard unless they were running a class and had a certification diff for docs & lawyers. 
2. Calculus of risk/cost benefit analysis (CBA)
a. Blyth v. Birmingham 
i. Water company laid pipes and they burst were sued for negligence. 
ii. Alderson standards- negligence is the omission to do something which the reasonable man would do, or doing something which a prudent and reasonable man would not do. 
1. a reasonable man would act with reference to the average circumstances of the temperature in ordinary years. 
iii. Some say should have known because of cold but it was the worst frost ever known, no one knew it was actually going to happen not guilty of negligence. Couldn’t have been foreseeable. There was a circumstance which a contingency against which no reasonable man can provide. 
b. Eckert v. Long Island RR 
i. Deceased died when he saved a child from the railroad they claim it was going too fast and did not have the proper warning signals and the other says he was contributory negligent 
ii. Objective standard- has to have saved child thinking he could do so safely or else he was negligent, he thought he could. Since life is so highly regarded had a moral duty to save kid. 
1. Wouldn’t be the same if it was for chattel. 
c. Osborne v. Montgomery 
i. 13 year old was on bike and the defendant parked car and opened car door and knocked him off. 
ii. Fundamental liability for wrongful acts is that upon a balance of social interest involved. 
iii. Negligent in not looking out when opening door. Negligence to be weighing the costs of taking action and the risks in doing so. 
1. Doesn’t work for fire truck emergency. 
d. US v. Carroll Towing Co. 
i. Boat tugging Anna C. which was a barge and it ran into another tanker and sank. Some cargo belonged to the US. 
ii. Says bargeman could have prevented damage. The expectation was to have someone there during the regular hours of 8-4. Custom is that would not have to be there all the time to leave to get food or use bathroom. He was gone though for 21 hours. 
iii. Hand Formula 
1. When B < PL and no precautions then negligent
2. When B≥PL then not negligent 
3. B=burden of precautions
a.  If this burden too high, then lose benefit of activity completely. 
4. P= probability of harm 
5. L= severity of harm 
6. Hand never uses numbers does overall evaluation. Burden can be unquantifiable and assumes people are risk neutral. 
e. Cooley v. Public Service 
i. Woman was on the phone and the wire fell creating a loud boom and she was injured. 
ii. Known to be a possible result. 
iii. Although could have done something nothing would have prevented this. They did all they could do. The hand formula shows they were not negligent. 
iv. Had to also think about caring for others and they did what was best. 
v. Plaintiff has obligation to come up with alternatives that they should have done that would have prevented risk. 
vi. Under negligence rule, injurer needs to make sure to exercise due care if he engages in his activity to avoid liability 
f. McDonalds Coffee Case 
i. High severity of harm but low probability and question on the burden of precautions either high or low. 
3. Custom 
a. What is done by industries could be indicative of reasonable standard of care. 
b. Titus v. Bradford 
i. Railroad company ran narrow tracks and put blocks of wood to make sure car was okay. 
ii. Deceased was riding on car and it became lose and he jumped and died. 
iii. Claimed it was negligent how they tied it, but company said it was custom and nothing dangerous or unusual because that was how everyone did it. Court said not negligent.
iv. Absolute safety is unattainable and employers are not insurers and not liable for consequences of danger but of negligence and the test is ordinary usage of business.  
v. Can a company be negligent if they are conforming to industry standards and is it a complete defense? 
1. Some say not fair because it does not incentivize safety. 
c. Mayhew v. Sullivan Mining 
i. Plaintiff was working on platform as an independent contractor and he fell. Court said cannot even look at custom because does not meet the standard of care. 
ii. Average customary care is not reasonable care. If the plaintiff knew about the custom to cut the cord could possibly say assumption of risk but didn’t know so that argument does not work. 
iii. Titus court would have found for defendant. 
iv. However here said that it is of no excuse for a want of ordinary care that carelessness is universal standard. 
d. TJ Hooper 
i. Did not have a working radio to warn them about the storm. It was custom to have radio but those were provided by the tugowners not by the boat owners. 
ii. Doesn’t matter they conformed to custom that is not a complete defense. Not saying that custom irrelevant but that it should not be the only measure. Most of the time reasonable practice is common practice but not all the time. 
iii. Some precautions are so imperative that their universal disregard will not excuse omission.
iv. Custom is some but is not dispositive of what is reasonable care.  
e. Rodi Yachts v. National Marine 
i. Barge owned by National Marine slipped from moorings and collided. National marines said they gave warning and no one checked. Might want to look at custom and CBA. 
ii. This is a contract case so no need to look at care and duty but just between these two parties the duties from the contract. 
iii. boat owner responsible for checking mooring and barge owner responsible for custom of what to do when initially coming into dock. 
iv. Do not need to look at separate CBA just need to see if they conformed with the contract 
v. Once docked the dock owner is the cheapest cost avoider. 
f. Some custom questions 
i. What are advantages of relying on custom to determine negligence? 
1. Can look to custom to find standard
2. Certainty, expertise, market knows best, judicial efficiency
ii.   What are disadvantages of relying on custom? 
1. Time changes and relying on custom might not go with her. Does not give guidance on things that are out of ordinary of what custom usually applies to. 
2. Decrease innovation, problem of change, unreasonable, uncertainty 
iii. Are there circumstances where customs is more or less useful?
1.  More useful where courts may not have expertise. Less useful in situations where it doesn’t give a clear rule 
g. Custom and medical malpractice 
i. Lama v. Borras 
1. Back surgery then had to have a second however did not conform with custom of normal care which would be no surgery. 
2. There was medical malpractice because they did not abide by the norms and it caused damages. Can show this by expert testimony 
a. Foreseeable risk. 
3. For medical malpractice have to show the physician departed from the generally recognized and accepted practices and procedures that would be followed by the average and competent physician in the same field under similar circumstances. 
ii. Bad outcomes do not automatically give liability to the patient because doctors do not give insurance on preventing bad consequences. It would be unworkable (adminsterability). 
iii. Expert testimony usually needed to find the applicable standard of care in medical malpractice cases.
1. Sometimes conformity test is only workable because judges and juries are not experts. 
iv. Some say different standards for if you’re a resident, doctor, or student. 
v. General rule I that the plaintiff must establish: 
1. Medical norm for doctors in that specialty (general v. specialty)(duty) 
2. Departure from norm (breach) 
3. Causation 
4. Injury 
vi. Two schools problem (what happens when you have two prevailing ideas about medical malpractice) 
1. Advocated by considerable number need this (majority) v. 
2. Accepted by reputable and reasonable minority (not sufficient) 
vii. National Standard Approach (Bruen) 
1. Okay to consider the medical resources available to the physician as one circumstance determining the skill and care required. Some allowance is made for the type of community. 
viii. Helling v. Carey 
1. Went in for irritated eye and did not do test because custom was that she was too young and now has permanent eye damage. 
2. Court holds doctor responsible because of TJ Hooper that even if it was the custom should not be the rule because so imperative then it should be as a matter of law. 
3. Under the Hand formula then burden of precaution is very low and should be taken. 
4. After custom is to always administer test. 
ix. Canterbury v. Spence 
1. Plaintiff had back surgery and slipped off of bed. Claims negligence in supervision, surgery, and informed consent. Was never told of 1% paralysis probability. 
2. Court says was negligent because needed to give all of the info to make an informed decision. Custom to inform of the risks. 
a. Even if doctors think it’s not good psychologically to disclose they have to not good reason not to disclose. 
3. What must be disclosed- generally informing the patient in nontechnical terms as to what is at stake, the therapy alternatives open to him, the goals expected to be achieved, and the risks that may ensue from particular treatment and no treatment. 
4. Negligence per se (i.e. violation of a statute) (the statute says what’s the reasonable standard) 
a. Example statute- any person who changes lanes on a state highway without signaling shall pay a $25 fine. 
i. Negligence per se, no guidance, can use it to show it was a conclusively negligent act. 
b. Osborne v. McMasters 
i. Defendant sold something to the plaintiff that was poison but it was not labeled poison like the statute requires. 
ii. Where there is a statute imposing a specific duty for the protection or benefit of others and neglects to perform that duty he is liable to those injured for which the statute was meant to protect. 
c. Negligence per se- 
i. Statute requires defendant to engage in certain conduct (duty) 
ii. Defendant fails to conform (breach) 
iii. Plaintiff within class of those for whom statute was enacted 
iv. Statutes enacted to prevent injuries of the character which occurred and
v.  Failure to conform to statute was cause of injury (causation and harm) 
d. Tedla v. Ellman 
i. Brother and sister walking on wrong side of the road with traffic against the statute and brother died h wad deaf. Defendants try and use negligence per se as a complete defense to say they were contributory negligent but it was custom to do that when traffic was heavy 
ii. Court said statute meant to codify custom exception. 
e. Gorris v. Scott 
i. Violated statute about sheep, no negligence per se because its about disease problem. #4 issue not to prevent sheep from falling over. 
f. Excuses for Negligence Per Se (Restatement 3rd 15)
i. An actor’s violation of a statute is excused and not negligent if 
1. The violation is reasonable in light of the actor’s childhood, physical disability, or physical incapacitation 
2. The actor exercises reasonable care in attempting to comply with the statute 
3. The actor neither knows nor should know of the factual circumstances that render the statute applicable. 
4. the actor’s violation of the statute is due to the confusing way which the requirements of the statute are presented to the public or
5. the actor’s compliance with the statute would involve a greater risk of physical harm to the actor or to others than noncompliance 
g. Martin v. Herzog 
i. Drove buggy without lights and defendant used that to say contributory negligent. Court says it shows negligence 
ii. Society in where duty to conform to safeguard everyone. Statute was for the protection of others and there was an admitted violation. 
h. Does the failure of having a license make dispositive of negligence where a license is required? 
i. Browne v. Shyne 
1. Did not have license to be a chiropractor. No negligence per se because he was not careless. 
2. Statute meant to protect people from negligently practicing medicine. 
5. Evidentiary tool- res ipsa loquitur 
a. Not a way to prove breach, can win a case even if not direct evidence of acts to show accident. Circumstantial evidence okay to prove negligence. 
i. Need only show proximate cause, needs to be so obvious. 
b. The thing speaks for itself (shows negligence) 
i. Usually use expert testimony 
c. How it would not be negligent 
i. More likely than not defendant’s actions were negligent and caused injury and that is res ipsa loquitur. 

d. Requirements for Res Ipsa Loquitur (Prosser Statement) 
i. The event must be of a kind which ordinarily does not occur in the absence of someone’s negligence 
ii. It must be caused by an agent or instrumentality within the exclusive control of defendant and 
iii. It must not be due to any voluntary action or contribution on part of plaintiff. 
e. Restatement (3rd) Res Ipsa Loquitur 
i. It may be inferred that the defendant has been negligent when the accident causing the plaintiff’s physical harm is a type of accident that ordinarily happens because of the negligence of the class of actors of which the defendant is the relevant member. 
1. *no contributory negligence
f. Byrne v. Boadle 
i. Flour fell from window and hit plaintiff it was res ipsa because should not have to call witnesses to show negligence, defendant is in charge of the servants who are handling the flour. 
g. Larson v. Francis Hotel- they do not have control over their guests and what they do despite their reasonable care. 
h. Ybarra v. Spangard (CA-1994)
i. Plaintiff had surgery and many people involved and was hurt, not sure who actually did it. 
ii. Res Ipsa Loquitur can be used because it does not ordinarily happen in the absence of negligence because the surgery was for appendix and the injury was for shoulder. The people inside operating room were in exclusive control and the plaintiff was not contributory negligent because he was unconscious. It was more likely than not it was one of them
i. Probability of Negligence and RIL (Posner) 
i. Probability that negligence caused harm: 
1. Either 2/3 ( >50%
ii. Probability that negligence belongs to defendant
1. 3/5 ( > 50%
iii. Total probability that defendant was negligent and negligence caused harm: 
1. 2/3 X 3/5 = 6/15 ( <50%
iv. Say that injury occurs during surgery. 10 possible causes and 1-4 were negligent and 5-10 were not. 
1. The plaintiff cannot use RIL as a basis of negligence because not more likely than not because more that no. 
2. If eliminate 8-10 then yes to RIL because more likely than not it was caused by negligence. 
c. Causation 

i. Cause in fact (factual cause, actual cause, but for cause, what caused the harm) 
1. Tests 
a. Substantial factor test (CA) 
i. Includes proximate cause 
1. Substantial is denoting the fact that D’s conduct has such an effect in producing the harm as to lead reasonable men to regard it as a cause, using that word in the popular sense, in which there always lurks the idea of responsibility.
b. Joint and Several Liability- full recovery permitted from all defendants regardless of % blame. Availability of contribution between defendants 
2. NY Central RR v. Grimstad 
a. man fell over and drowned, wife tried to save him but he could not swim and there was no life preserving buoys on the barge. D’s negligent not to have buoy. 
b. Could say CN for not knowing how to swim or AR b/c he knew there was no buoy and still stayed. No evidence even if there was a buoy he would have survived. 
3. Actual Cause Test (Simple)- Negligent act was necessary cause of harm 
a. Jury must determine by a preponderance of the evidence: 
i. But for defendant’s tortious conduct (or plaintiff’s negligence- for comparative negligence purposes) in _____, the injury would not have occurred. 
b. Restatement third- 26 Factual Cause- Conduct is a factual cause of harm when the harm would not have occurred absent the conduct.
4. Zuchowicz v. US 
a. Woman given overdose and died of PPH. Symptoms started right after she took overdose not erroneous to think that was the cause. 
b. If negligent act deemed wrongful b/c act increased chances of particular type of accident and it happened it shows it was the cause. 
5. Loss Chance of Survival 
a. Herskovits v. Group Health 
i. Cancer patient had less than 50% of survival and doctor failed to diagnose and decreased chance by another 14%. 
ii. Held could not sue for failure to diagnose but could for the 14% lost chance (additional medical expenses) 
iii. Since more likely than not already going to die can’t sue. If 51% survival would get full recovery.  
6. Multiple Sufficient Causes- Negligent act was sufficient to cause harm. Multiple causes in which either act is sufficient to cause harm 
a. Restatement (third) 27
i. If multiple acts exist, each of which alone would have been a factual cause of the physical harm at the same time, each act is regarded as a factual cause of the harm. 
b. Kingston 
i. Two fires one set by D and another unknown origin. 
ii. D still responsible. For policy and deterrence. 
iii. See if they were sufficient do not have to have been necessary if so obvious 
7. Alternative Liability: A or B- legal fudge where one or another act was cause of harm. 
a. Summers v. Tice 
i. 3 friends hunting quail and 2 shoot negligently one hits in the eye the other the lip, don’t know whose shot was which. 
ii. Kingston does not apply b/c could only have been one shot that hit the eye.  
iii. Both held liable burden on them to show it wasn’t their gun. 
b. Restatement (Third) 28- Factual Cause & Burden of Proof 
i. P has burden to prove that D’s tortious conduct was a factual cause of P’s physical harm 
ii. When P sues all multiple actors and proves each engaged in tortious exposed P to a risk of physical harm and one or more caused the harm but P cannot reasonably be expected to prove which actor caused the harm, the burden of proof including both production & persuasion on factual causation is shifted to the defendants. 
1. When it’s one or the other 
8. Market Share Liability 
a. All named defendants are potential tortfeasors 
b. Alleged products of all tortfeasors are fungible (share same properties, materially identical) 
c. Plaintiff through no fault of her own, cannot identify which defendant caused injury 
d. Plaintiff brings in as defendants those representing a substantial market share. They cover their share 
e. Sindell
i. Gave medication to mothers and caused injury to children. Couldn’t tell who were the manufacturers that sold it to the providers 
ii. She could hold them all responsible. 
ii. Legal or proximate cause 
1. Law should put public policy limits on liability Causation 
2. are there policy reasons to limit the scope of liability
a. See if any other intervening acts broke the chain of causation 
3. Tests for Proximate Cause 
a. Directness Test (Polemis) 

i. Limiting causation 
1. Plank negligently fell on cargo w/gas and destroyed vessel. D had no idea there was gas 
2. They were negligent in handling the plank but it was not foreseeable b/c did not know about the gas. 
3. Not about foreseeability but if it was the direct result (chain approach)
a. Natural & continuous 
b. Can look at if close in time and space 
b. Ryan v. NY 
i. Wood caught on fire and destroyed P’s property 130 ft away. Not the proximate cause because it was too remote. Had it been the first building then yes liable 
ii. Not expected or anticipated when many down the line. Not a natural result. D had not control over the other circumstances like the wind. 
iii. Benefit to society not to hold D liable b/c then would go bankrupt. 
c. Foreseeability Test (mostly used) 
i. Foreseeable P (Palsgraf) 

1. Palsgraf
a. Man on platform and pushed in when running late a package falls and explodes and injures P 
b. D was actual cause. D had no duty to P, they had duty to man but not P b/c he was not a foreseeable P. Only have duty to foreseeable P’s.  
ii. Foreseeable harm (Wagon Mound) 
1. Wagon mound- D carelessly discharged oil in Sydney Harbor. P’s wharf damaged. Investigated and said no risk and continued work and it exploded. 
2. Harm not foreseeable that water would catch fire. Wind, 2 days later
3. If harm foreseeable then you could be CN. 
d. Risk Test (restatement 3rd) 

i. 29- limitations on liability for tortious conduct 

1. An actor is not liable for harm different from the harms whose risks made the actor’s conduct tortious. 
4. Intervening Criminal activity under the restatement- 448 & 449 
a. Intervening criminal acts break the chain of causation “unless the actor at the time of his negligent conduct realized or should have realized the likelihood that such a situation might be created, and that a 3rd person might avail himself of the opportunity to commit such a tort or crime. 
b. An unforeseeable criminal act will always break the chain of causation and a foreseeable will not. 
d. Harm 
h. Roadmap for negligence 
i. Evolution- fault-based v. act-based liability 
1. Question of which writ system to adopt 
a. Trespass- punishment of direct action (harm) 
i. Strictly liable because you acted and it directly caused harm
b. Trespass on the case- punishment of indirect action or harm 
2. Scott v. Shepherd 
a. One person threw a squib and then two more people did injuring others original person liable. 
ii. Plaintiff’s conduct and affirmative defenses- was plaintiff at fault too? 
1. Affirmative Defenses 
a. Contributory Negligence 

i. Running an unreasonable risk of harm to one’s self.
1. Go through the elements to see if they were negligent  
ii. Traditionally, p’s negligence barred recovery. 
iii. Majority rule today: Plaintiff’s negligence could affect the amount of recovery (comparative fault) 
iv. Butterfield v. Forrester
1. P thrown off horse when something in the street, 100 yards away and there was light. 
2. Defendant was negligent, but plaintiff too  because he must have seen the thing and he had to been running so fast if he did not. 
v. Gyerman v. US 
1. Employee injured unloading fishman stack. He told someone it was improperly done but nothing changed 
2. Was not contributory negligent because did not breach a duty, reasonable for P to believe D would do nothing & P did not have to quit. 
vi. Traditional contributory Negligence 
1. Defendants need to prove negligence case
2. Emergency doctrine (goes to reasonableness but also life-saving) 
a. Okay to be somewhat negligent because we value life so much. 
3. Last Clear Chance- not an absolute principle 
a. Fuller v. Ill. Central 
i. Man on horse riding through train track and train going faster than normal. He did not stop, look, or listen and killed
ii. Train had last clear chance because he had last clear opportunity to stop the train 
iii. Train was not expected at the time so plaintiff had no reason to stop. 
b. If P had it they shows they breached and could also go to causation 
vii. Moved to comparative fault jurisdictions 
1. Pure- apportion fault easy to administer
2. Modified- if p’s fault 50%+ contributory negligence is a complete defense. 
3. Switch to comparative fault because of fairness, moral disparity 
a. Some say would over-deter since its based on %. 
b. Assumption of Risk 
i. Plaintiff appreciated the risk but undertook the activity anyway (has to have known about the risk) 
1. Traditionally complete bar to recovery. 
ii. Traditional Assumption of Risk (D has to prove) 
1. Plaintiff has specific knowledge of risk 
2. Plaintiff appreciated the nature of the risk 
3. Plaintiff voluntarily proceeded 
4. (restatement adds a willingness by plaintiff to accept responsibility of the risk) 
iii. Exceptions to traditional assumption of risk 
1. Too dangerous so no AR
2. Exercising a legal right 
a. Walking on a public highway where there’s construction, you have a legal right to walk there 
3. Need free choice to assume the risk 
iv. Explicit assumption of risk 
1. Similar to explicit consent 
2. Governed by contract principles 
a. Agreeing to instructor being negligent 
3. Public policy limits (including unconscionability)
a. Clarity of waiver/AR 
b. Importance of service/good to individual 
i. Kayaking not necessary while medical service may be which would say okay that he agreed. 
c. Availability of alternative options 
d. Severity of danger  
v. Implicit assumption of risk. 
1. If primary then no recovery because D owes no duty 
a. Plaintiff proved this general duty and now D says did not owe this specific duty for inherent risk of activity 
b. Plaintiff assumes ordinary risks inherent to activity by choosing to participate so no recovery 
c. Firefighter’s rule- they cannot sue for other’s negligence b/c others have no duty & that is a part of their job 
2. If secondary then owed a duty and they breached it now need to see if P was reasonable or unreasonable in continuing 
a. If unreasonable then P a form of P negligence, apportion 
b. If reasonable then no P negligence and can fully recover  
3. Lamson v. American Axe 
a. P complained to D racks were not safe. told either keep working or leave, he stayed was injured 
b. D was negligent said P AR b/c knew it was likely to happen and he stayed. 
c. Implied AR b/c he chose to stay. He knew how likely it was and stayed 
i. Weird outcome. In Gyerman no need to leave job 
4. Steeplechase Park 
a. The Flopper man was injured. Ppl are supposed to fall. 
b. P AR b/c watched others fall, knew he would, not essential activity 
c. See if there is an inherent risk. 
5. Knight v. Jewett
a. Touch FB woman was injured. 
b. She AR because nature of the game is to accept that some ppl would act unreasonably. D owed no duty. 
Strict Liability 
1. Not based on a fault-based system, US very fault based. We like it because it will either encourage people not to do the activity at all or it will encourage them to take an even greater precaution. Still need to show causation 
2. Rylands 

a. Abandoned mines leaks and goes to house and floods Fletcher’s house. Ryalnds did not know. 
b. Ryalnds’ workers may have known about the abandoned mines. 
i. He is not liable for what the independent contractors or did not know. No negligence case but wins on strict liability 

ii. If you bring something harmful on your land then you’re liable for it. It has to be kept at his peril (strict liability) 

1. Even if you didn’t bring it if you allowed it to accumulate then you are responsible 

iii. For dams in the US most adopt Ryalnds law. They are considered ultrahazardous/dangerous. 
3. Vicarious liability 

a. Employee needs to be working in scope of employment at the time of the act

b. Employees strictly liable w/o fault of employees. Not responsible for one tort committed by an employee against another employee. 

c. For independent contractors 

i. Have to be directed and controlled by D and derived benefit from the acts of the independent contractor 

4. Fire (intentional start, unintentional spread) 

a. Not all fires created equally but has to be intentionally started but non- negligently spread.  

5. Animals 

a. Strictly liable depends on the type of animal 

i. Livestock 
1. Traditional rule- trespassing cattle, trample, eat crops 

2. Common law- If you bring it onto the land, you’re responsible if it goes off of land, strict liability 
a. It’s about the damage it causes 

b. There was a shift that you had a duty to fence out and if you didn’t you could not sue for damages. 
ii. Domesticated Pets/Tame animals 

1. Gehrts v. Batteen 

a. St. Bernard in pick up truck and P goes to pet it & gets bit. 
b. No SL b/c that’s for wild animals domesticated animals are usual negligence standard 
c. SL if owner knows they are dangerous or had to reason to know 

i. Doesn’t have to have attacked before. 

iii. Wild Animals 

1. Not domesticated and/or if it’s ferocious by nature. 
2. Restatement- animal likely to cause personal injury unless restrained SL (liable w/o regard to fault) 

3. Zoos- largely excluded from SL b/c ppl know. 
b. CA- owner of any dog liable for injuries (SL) whether they know viciousness 
6. Ultrahazardous or Abnormally Hazardous Activities  

a. Blasting, explosions, fumigation, transportation of hazardous material reservoirs dams 
b. Spano v. Perini Corp 

i. One who engages in blasting must assume responsibility and be liable without fault, for any injury he causes to neighboring property.
ii. Blasting damaged automotive shop nearby 
iii. Old writ system 

1. Only SL if direct harm (trespass) 

2. Indirect/consequential (shaking)- neg. would govern  

iv. Reasonable care cannot make it safer 

v. No deterrence because neg. system will exert a lot of pressure to alter behavior 
vi. Corrective justice between 2 parties who should bear the loss. More fair to hold liable the one that acted & undertook risk. 
c. Restatement (First) of Torts- 520 (don’t really need to know) 
i. An activity is ultrahazardous if it: 

1. Necessarily involves a risk of serious harm to the person, land or chattels of others which cannot be eliminated by the utmost care, and 
2. Is not a matter of common usage 

d. Restatement (second) Abnormally Dangerous Activity- 519
i. One who carries on an abnormally dangerous activity is subject to liability for harm to the person, land or chattels of another resulting from the activity, although he has exercised the utmost care to prevent the harm. 

ii. This strict liability is limited to the kind of harm, the possibility of which makes the activity abnormally dangerous. 

e. Restatement (2nd) Abnormally dangerous Activities- 520 

i. In determining whether an activity is abnormally dangerous, the following factors are to be considered: 

1. Existence of a high degree of risk of some harm to the person, land or chattels or others; 

2. Likelihood that the harm that results from it will be great 

3. Inability to eliminate the risk by the exercise of reasonable care 

4. Extent to which the activity is not a matter of common usage 
5. Inappropriateness of the activity to the place where it is carried on and 

6. Extent to which its value to the community is outweighed by the dangerous attributes 

7. Only 5 & 6 are additional from restatement 1 & 3. 

f. Restatement (3rd) Liability for Physical & Emotional Harm 

i. Abnormally dangerous activities 

1. A defendant who carries on an abnormally dangerous activity is subject to strict liability for physical harm resulting from the activity. 

2. An activity is abnormally dangerous if: 

a. The activity creates a foreseeable and highly significant risk of physical harm even when reasonable care is exercised by all actors; and 

b. The activity is not one of common usage. 

ii. Can memorize this and add 5 & 6 of restatement 2. 
7. Products Liability- restatement 3rd- one engaged in the business of selling or otherwise distributing products who sells or distributes a defective product is subject to liability for harm to persons or property caused by the defect. 
a. A product is defective when at the time of sale or distribution, it contains a manufacturing defect, is defective in design, or is defective because of inadequate or warning. 

b. For manufacturing and design defect can ask for a circumstantial evidence instruction- restatement 3rd products liability 
i. It may be inferred that the harm sustained by the Plaintiff was caused by a product existing at the time of sale or distribution, without proof of a specific defect, when the incident that harmed the plaintiff: 

1. Was of a kind that ordinarily occurs as a result of product defect; and 

2. Was not, in the particular case, solely the result of causes other than product defect existing at the time of sale or distribution 

3. If they get this instruction, then burden shifts to D to show it was not a defect. 

c. Manufacturing Defects (Strict Liability) 

i. Restatement 3rd- a product contains a manufacturing defect when the product departs from its intended design even though all possible care was exercised in the preparation and marketing of the product. 

ii. Escola- 2 possible defects- air pressure and the thickness of the glass. 
1. Waitress was hurt. They were negligent and therefore SL. 
iii. Pouncey- metal was impure- reasonable care could not make it safer.  
iv. Incentives to be more careful if SL. Least cost avoider are the manufacturers. 
v. The plaintiff wins under strict liability by showing that the product does not meet the manufacturer’s own specifications for the product and as a result the product was dangerously defective. 
d. Design Defects- reasonable standard 
i. Product conforms with manufacturing instructions but designed in such a way that causes injury, brings in reasonableness 
ii. VW v. Young 

1. Automobile manufacturer is liable for a defect in design which the manufacturer could have reasonably foreseen would cause or enhance injuries on impact which is not patent or obvious to the user, and which in fact leads to or enhances the injuries in an automobile collision 
2. Decedent was rear ended and hurled to back seat and died, question of design defect. Question of if it was intended to help minimize injuries in collision. Held yes 
3. Since foreseeable need to protect against unreasonable risk to injury 

iii. 3 tests: 2nd, 3rd, and hybrid which is Barker. 

iv. Restatement 2nd (consumer expectations) 

1. Defining unreasonable dangerous as dangerous to an extent beyond that which would be contemplated by the ordinary consumer who purchases it, with the ordinary knowledge common to the community as to its characteristics 
v. Restatement 3rd  Reasonable alternatives test 
1. A product is defective in design when the foreseeable risks of harm posed by the product could have been reduced or avoided by the adoption of a reasonable alternative design by the seller or other distributor, or a predecessor in the commercial chain of distribution, and the omission of the alternative design renders the product not reasonably safe. 

2. *If the plaintiff cannot show a reasonable alternative would have eliminated the risk that injured the plaintiff, then the product is not defective. 

vi. Restatement 3rd- factors for determining reasonableness of alternative designs 

1. The magnitude and probability of the foreseeable risks of harm 

2. The instructions and warning accompanying the product 

3. The nature and strength of consumer expectations regarding the product, including expectations arising from product portrayal and marketing. 

4. The relative advantages and disadvantages of the product as designed and as it alternatively could have been designed may also be considered. 

5. The likely effects of the alternative design on production costs; the effects of the alternative design on product longevity, maintenance, repair, and esthetics; and the range of consumer choice. 
vii. Barker v. Lull Engineering 

1. A high lift loader, decedent jumped b/c lost control. Expected to operate it but really didn’t know how to really use it. 
2. Nothing said about risk utility and that is a problem, since consumers don’t know how to use it that should not be the only standard to use. 
3. Barker rule- A product is defective in design either (CA-hybrid of both) 
a. If the product has failed to perform as safely as an ordinary consumer would expect when used in an intended or reasonably foreseeable manner or 

b. In light of relevant factors, the benefits of the challenged design do not outweigh the risk of danger inherent in such a design 

i. Factors: 

1. The gravity of the danger posed by the challenged design

2. The likelihood that such danger would occur

3. The financial cost of improved design and 

4. The adverse consequences to the product and consumer that would result from the alternative design. 
viii. All boil down to 2 tests 

1. Risk utility analysis (reasonable alternative design approach) 
2. Consumer expectations (unreasonably dangerous) 
a. Sometimes this test only may hurt the plaintiff’s case. 

3. CA uses both but mostly reasonable design approach burden shift to defendant to show no alternative 

4. (occasionally “strict” in name, but always negligence in practice) 

ix. Linegar v. Armour 

1. Police officer dies and says defect in vest design. No consumer expectations that you will be protected because it doesn’t cover your sides to begin with. No design defect. 
e. Warning Defects (failure to warn or inadequate warnings)- has reasonableness standard  
i. Restatement 3rd 

1.  A product is defective because of inadequate instructions or warning when the foreseeable risks of harm posed by the product could have been reduced or avoided by the provision of reasonable instructions or warning by the seller or other distributor, or a predecessor in the commercial chain of distribution, and the omission of the instructions or warning renders the product not reasonably safe. 

ii. Main questions 

1. Was a warning necessary? 

2. Was the warning adequate? 

3. Would an adequate warning have made a difference? (causation) 

iii. MacDonald v. Ortho 

1. Woman taking birth control has a stroke 
2. Not adequate warning because the company needed to warn directly about the stroke. Know the failure caused harm because she said she would have made different decision and has to show she would have actually read the warning. 
3. Intermediary rule 

a. Potentially relieves pharmaceutical company of liability if they tell the doctor 

f. Common law exceptions to products liability 

i. No defect if the problem is “open and obvious” 

1. Inherently dangerous (ax) 

ii. No defect if product caused injury when not used for an “intended use” (product misuse) 

iii. No defect if product was “altered” by consumer (product misuse) 

g. Affirmative defenses to Products liability 

i. Contributory negligence 

ii. Assumption of risk 

iii. Misuse-alteration or not intended use 

iv. Preemption (federal laws that preempt state tort law) 
1. Express provisions 

a. State law cannot govern 

2. Supremacy clause preemption-
a.  conflict preemption (purpose or objective or specific conflict)

i. federal law trumps when there’s a conflict 
b.  field preemption 

i. state law plays no role 

8. Nuisance

9. Defenses to Strict Liability 
a. Attack prima facie case 
i. A note about causation 
b. Harm must be within scope of what makes activity abnormally dangerous/ proximate cause analysis (Madsen) 
c. Contributory negligence 
d. Assumption of risk 
e. No recovery for special sensitivities (Madsen) 
i. Abnormal sensitivities where others would not have suffered harm 
ii. Would not have anticipated any harm from anyone 
Privacy Law 

1. Most similar to assault, intentional, offensive battery, dignatory harm 
2. JD Salinger
a. Wrote letters to people in a relationship and won on copyright not on privacy 
3. Samuel Warren & Louis Brundires 
a. The right to be left alone, constitutional right to privacy 
4. Intrusion upon seclusion 
a. Intentionally intrudes physically or otherwise upon solitude or seclusion of another or private affairs or concerns if intrusion would be highly offensive to a reasonable person 
b. Nader v. GM 
i. watching him in public at bank was because it invaded his bubble. Telling friends things is not because once you have disclosed it’s as if you told the world. 
ii. See if there is a reasonable expectation of privacy 
5. Disclosure of private facts 
a. want news people to be able to get relevant information 
b. one who gives publicity concerning private life information if matter publicized is of a kind that 
i. would be highly offensive to a reasonable person and 
ii. not a matter of legitimate concern (not newsworthy)
c. see if they are a public figure because then more likely it is not private info. 
d. Illegally gotten info that media gets from another can be released 
6. False lights 
a. Defamation- tort for making false or misleading statement about another person or business and those statement disparage them 
i. Particularly when public figure 
1. Active malice standard- publisher knew had reason to known or recklessly disregarded about the information being false 
a. Limited to disparaging remarks rather than just false ones 
b. False light 
i. Liable if
1. Places person in false light 
2. Highly offensive to reasonable person 
3. Acted with knowledge or reckless disregard of falsity and 
4. Defendant published/publicizes the misinformation
7. Appropriation of name or licensees for (commercial or other) advantage a.k.a. right of publicity 
a. Using image on public thing. Did not put himself in the public eye so could sue under here. 
i. Actor cannot 
b. Appropriation of name or licensees 
i. One who appropriates to his own use or benefit of the name or likeness of another subject to liability for invasion of privacy 
c. Appropriation of commercial value of person’s identity 
i. One who appropriates commercial value of a person’s identity without consent the persons’ identity for purposes of trade is subject to liability 
1. Wants to get paid for using their image 
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